( English Version )

GROUP -A
1 x10=10

Answer the following questions :

Choose the correct answer :

a)

b)

c)

d)

The factors of productions are categorised into how many groups ?
i) Three ifj Four °

iiij Five iv) Eight.
In which economic system the Government intervention in economic

activities is least ?
i)  Mixed economy - ii) Market economy

iiij Planned economy None of these.

Which type of concept is Utility’ ?

i}  Social ijj Commercial -

iii) Psychological iv) Physical.
An example of public good is

i) Government Bus i) Government Tram

iiij Defence Service « iv) Government Train.

The educated and trained labour force of an economy can be termed as

iy  Education capital ifj  Physical capital

iii} - Human capital iv) Capital.
Which type of concept is Tncome’ ?

i) Stock - i) Flow

iii) Psychological W} None of these.

NS-ECON (ELVN)-N/S-%0060(11) 8/ 19




hich of the f SR
g ¥ . Ollowlng 1S not g char :
phase of businesg cyele Acteristic of ‘Depression’, the lowest

i) Very low incom, level

ii) Increase in rate Ofinvestm
ent

i1i)

h) Which type of Organisatiop is

| | Life Insurance Corporation of India’ ?
i} Banking Institution

ii) Non-Banking Financiq) Intermediarieg

ity Development Bap),
iv) Rural Bank. .

i) What is the statistical data collected from ‘Economic Survey’ report of the

Government of India called ?

i}  Secondary data i)  Primary data

iiij Raw data « iv) None of these.

i} In which year a liberal New Industrial Policy of India was announced ?

i) 1956 - . i) 1991
iii) 1948 v) 1977
GROUP-B
2. Answer the following questions ( Alternatives are to be noted ) : 1x10=10

a]  Write true or false :
A production possibility curve normally shows increasing opportunity cost.
OR

Efficient production is possible at a point lying only o the production

possibility curve.
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b)

g)

h)

Fill in the blank :
EI‘"’T.Y society faces .........coccvvenenns fundamental economic problems.

OR

In Indian economy, we observe ................... €conomic system.

Write true or false :
A market demand curve is vertical summation of individual demand curves.

Fill in the blank :

One of the reasons for market failure is ......cccccceeeeene in production.

Write true or false :
Gross Domestic Product at market price — Net Domestic Product at market

price = Total Subsidy.

OR _
Gross Domestic Product at factor cost = Gross Domestic Product at market
price — Indirect Tax + Subsidy.

Fill in the blank :
InIndia: M, = M+ .

2
OR
.......... Can create credit money.

Write true or false :
The proponent of ‘Comparative Cost Advantage’ doctrine as a basis of

international trade was David Ricardo.
OR

Imposition of import duty helps in the expansion of international trade.
Write true or false :

The breadths of bar in a bar diagram are unequal.
OR

In case of Pie-chart, one per cent of the value of the variables, creates an

angle of 3-8° in the centre of the chart.

Fill in the blank :
The median of all consecutive numbers from 1 to 8 will be ... .
OR
If daily consumption expenditure of 5 persons be Rs. 80, Rs. 75, Rs. 125,
Rs. 80 and Rs. 95 then mode will be ...................... .
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Write true or false .

j)
The Second Industriy, Policy of
Ol Indiq w,
4in was announced in the year 1956.
. . OR
The main objectiye of cConom;
. c
public sector. reform Programme in India was expansion of
GROUP C
Answer the followin
3 & Questiong | Alternatives are to be noted ) : 2x10=20
a) What is ‘Invisible Hand’ > ‘
OR
In a pla :
| planned ecogomy’ what is meant by ‘Administered Price’ ?
b) Ir economics, what is meant by ‘Utility’ ?
OR
In economics what is meant by Demand’ ?
c)

What is meant by economic growth of a country ?

OR
What is ‘Trickle down’ theory ?
d) What are different components of aggregate demand in a country ?
OR
What is ‘Trade Cycle’?
e) Mention two differences between commercial banks and non-bank financial
intermediaries.
OR
Mention two differences between commercial bank and central bank.
f) If Arithmetic mean of the values { x - 1 ), x, { x + 1) is given as 8, then
determine the value of x.
OR
Central tendency’ of distribution ?

What is meant by

. ribution of national income ?
; Sectoral distribu
g)  What is meant by
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h)

j)

Answer the following questions ( Altern

a)

b)

¢

d)

What is population density ?
OR

Indicate any two causes of declining death rate in India.

What is meant by ‘Marketable Surplus’ of foodgrains ?

OR

What is ‘Operation Barga’?

What are ‘Core Industries’ ? Give an example.

GROUP-D
atives are to be noted ) : 5x6=230

Discuss Marshallian law of Diminishing marginal utility’ with proper
illustration.
OR

Show how the equilibrium price of a commodity is determined by the

interaction of aggregate demand and aggregate supply in the market.

Mention the problems that arise in the construction of Index numbers.

OR

What is unemployment ? Discuss different types of unemployment. 1+4

Explain the differences between primary data and secondary data with

proper examples.
OR

Mention the advantages and disadvantages of using median as a measure of

central tendency of a sct of observations.

Explain briefly Adam Smith’s theory of ‘absolute advantage’ as the basis of

trade between two countries.
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e) Wwhat kind of changcs ha
S oceury
during the plan Period ? ¢d in the occupational structure of India
Discusg.
OR
Briefly examine the maj
place in the last five dec d S of demographic changes that had taken
a
| _. €S In West Bengal
fi ~Discuss iIn brief the role of :
0 1 . . -8
industrialisation public sector undertakings in India’s
OR
Discuss the :
problems facing the small scale industries in India.
GROUP -E
5. Answer the following question ( Alternative is to be noted ) : 10x1=10

Critically discuss the nature and consequences of the Green Revolution in Indian

economy.

OR

Discuss the Mahatma Gandhi National Rural Employment Guarantee Scheme

(MGNREGA ).

13/ 19

NS-ECON

(EL‘m].NIS-*UOGOIHI




( Hindi Version )

GROUP - A
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Fbfoass At o e ¥ ) 2x10=20
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GROUP - D
5"6:30

. ) :
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GROUP - E

5. mwﬁﬂﬁﬁ(éﬁ%mmm%j: 10x1=10
wmﬁmmﬁﬁﬁmqﬁmﬁaﬁwwaﬁl
YAl

FET MY T ey Qe M W ( MGNREGA ) F) e Y |

[Ns-EcoN] [ (ELVN)-N/S-%0060(11) 19 / 19



